Tura 1 - odpowiedzi

Zadanie A

Rozwigzanie:
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Odpowiedz: 41




Zadanie B

Rozwigzanie:

Odpowiedz: 25



Zadanie C

Rozwigzanie: dwa potrojne mosty zostaty oznaczone kolorem niebieskim

Odpowiedz: 9



Tura 2 - odpowiedzi

Zadanie A

Rozwigzanie:
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Odpowiedz: 23



Zadanie B

Rozwigzanie:

8

Odpowiedz: 101001



Zadanie C

Rozwigzanie:
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Odpowiedz: 0459167328




Tura 3 - odpowiedzi

Zadanie A

Rozwigzanie:
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Odpowiedz: 7



Zadanie B
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Zadanie C

zwigzanie:
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Odpowiedz: 54 2 5



Tura 4 - odpowiedzi

Zadanie A

Rozwigzanie:
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Odpowiedz: 11



Zadanie B

Rozwigzanie:
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Odpowiedz: 10200110



Zadanie C

zwigzanie:
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Tura 5 - odpowiedzi
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Zadanie B

Rozwigzanie:

Odpowiedz: 110101



Zadanie C

Rozwigzanie:

Odpowiedz:0010010



Tura 6 - odpowiedzi

Zadanie A
Rozwigzanie:
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Odpowiedz: 30



Zadanie B

Rozwigzanie:
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Zadanie C

zwigzanie:
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Odpowiedz: 1673155



